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(1) 8530.1% = = (1)
= 300 O] 100 90| = 1. |
. 600 3708 100 1,500M| & 2 E50%
446M oM 22MH 0M 39 13[1[ 1,000 3709 100M™ 1,990M| % 3 BRED
= 1,300 370M T00M 2, 290M[ & 3 BfE0
1 1,600 855M 100 3,075M| F 45K
= 3009 0] 100 1,041 Z1B0E |
= 600 3709 100/ 1,711 E26%
- 555/ 0 22 1M 48M 16M[ 1,000 370 100 2 111M] E35ED
1,300 3709 100/ 2 A11M]| &3 B
2 1,600 855 1009 3,106 & 4 FBPE
= 300 0] 100 1,101 = 1B08 |
N 600 370 100 1,771 &E 2650%
- 596M 134 22MH 1M 52 178 1,000 3709 100/ 2 1710 &3 D
B2 1,300 370 100 2 471M| B3 B0
1 1,600 855M 100 3,256 & 4 P
= 3009 0] 100 1,1/8M[ = 1608
N 600M™ 3709 100/ 1,848M[ & 26
- 665M 138 22 1M 58M 198 [ 1,000 370 100 2 248 & 3 BFED
-2 1,300/ 3708 100 2 548 &3 B
2 1,600 855M 1009 3,333 FE 4B
= 30019 0] 100 1,258 = 1608 |
N 600 370 100 1,928M & 265m%
- 737M 134 22MH 1M 64 21M[ 1,000 3708 100 2,328 &3 BFED
s 1,300 370 100 2,628 &3 B
3 1,600 855M 100 3,413 F 455
= 300 0]z2] 100N 1,334 & 10
N 600/ 3708 100M™ 2,004M| % 2 FBPE
- 806M 134 22 1M 704 23[™ [ 1,000 370 100M 2,404 & 3 BFED
- 1,300/ 3708 100M™ 2,704 &3 B
4 1,600 855 100 3,480 F 4Bk
= 30019 0] 100 1,710M0] = 1508 |
N 600 370 100M 2,080M| % 2B
- 8740 130 22 1M 76 25M [ 1,000/ 3708 100 2,480 &3 BED
R 1,300 370 100M™ 2,780 & 3 PR
5 1,600/ 855M 100 3,565 & 4 AP
% 1H&IEDODSER % 2EIRE0BSEEAND ENEN 21E. 3HaEDhES bR 3 BILaDES
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(1) 8530.1% = = (1)
= 300 3209 100 I,2400| E1BE |
. 600 2201 100 1,640M| & 26508
446M oM 22M oM 391 13[1[ 1,000 820M 100M™ 2 440 & 3 BPED
= 1,300 820M T00M 2,740 3 BFE0
1 1,600 1,171M 100 3,391 F 45K
= 3009 3209 100N 1,361 Z1B0E |
= 600 Z20M 100/ 1,761 & 26
- 555/ 0 22M 1M 48M 16M[ 1,000 820M 100M™ 2 5611 &3 BED
1,300 820 100/ 2 8611 &3 QR
2 1,600 1,171M 1009 3, 5120 F 450
= 300 320 100 1,2214| EI1EE |
N 600 Z220M 100 1,82TH| F 265
- 596 134 22/ 1M 52/ 178 1,000 820M 100/ 2 6211 &3 D
— 1,300 820M 100 2 921M| &3 R
1 1,600 1,171M 100 35720 F 4Bk
= 3009 3209 100 1,798 = 18
N 600 Z20M 100/ 1,898M[ & 2E50%
- 665M 138 22M 1M 58M 198 [ 1,000 820M 100 2,698 & 3 BPED
-2 1,300/ 820M 100 2,998 &3 B
2 1,600 1,171M 1009 3,640 & 4 B
= 30019 3209 100 I,5/8M| ZI1EE |
N 600 Z220M 100 1,978M & 2E5m%
- 737M 134 22M 1M 64 21M[ 1,000 820M 100 2, 778H] &3 BFED
s 1,300 820M 100 3,078H| & 3 B
3 1,600 1,171M 100 3,720M| F 4B
= 300 32089 100N 1,654| 21
N 600/ 220M 100M™ 2,054| % 2 FapE
- 806M 134 22M 1M 704 23[™ [ 1,000 820M 100M 2 854 & 3 BPED
- 1,300/ 820M 100M™ 3,154 &3 R
4 1,600 1,171 100 3,805 F 4Bk
= 30019 3209 100 I,730M| ZEI1EE |
N 600 Z220M 100M 2,130/ FE 25K
- 874M 130 22M 1M 76 25M [ 1,000/ 820M 100 2,930 &3 BFED
R 1,300 820M 100M™ 3,230 &3 R
5 1,600 1,171M 100/ 3,881 F 450
% 1H&IEDODSER % 2EIRE0BSEEAND ENEN 21E. 3HaEDhES bR 3BILaDES



